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ECE 300
L HW #12
wig _
Due: November 29, 07 Name //// ?

Use engineering paper. Work only on one side of the paper. Use this sheet as your cover sheet, placed
on top of your work and stapled in the top left-hand corner. Number the problems at the top of the page,
in the center of the sheet. Do neat work. Underline your answers. Show how you got your
equations. Be sure to show how you got your answers. Each problem counts 10 points.

(11.5) Also find the power supplied by the source: P; =1.42 W; P, =5.1 W; Pyource =6.52 W
118y Pipg=438W R T — T
(11.15) Zy,=(0.5-j0.5) ohms; Ppax=90W

(11.29) Izgms=5.77A; P12=400W

(11.31) Vrus =294V

(11.42) (a) S=(84.8+j84.8) VA; (b) Inms=1.09 Arms; (c) Z=(71.3 +j71.3) ohms;
(d) R=71.3 ohms, L=0.189 H

(11.47) (a) S=224-60°VA; P=112W, Q=194 VAR
(b) S=3204£-45°VA; P=2263W, Q=-2263VAR
(c) S=128430°VA; P=110.85 W, Q=64 VAR
(d) On your own
(11.55) 40 Vsource: S=(-140+j20) VA
capacitor: S=-j250 VA
resistor : S=290 VA
inductor : S=j130 VA
50 V source:  S=(-150+j100) VA
(11.60) V,=7.098£32.3°V; pf—0.8454 lagging

(11.70)  C = 69.45 uF
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